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#include<iostream.h>

Void main()

{

Charr,a,d,a,r;

Cout<<"enter name\n";
Cin>>r>>a>>d>>a>>r;
Cout<<"name="<<r<<a<<d<<a<
<r;

}
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#include<lostream.h> \

Void main()

{

Long double Sudan, University , Of
sSclence;

Long double *number words;

Number words=&Sudan, University , Of
ssclence;

Cout<<"Sudan University of sclence\n";
Cin>>Sudan>> University >>of>>science;
Cout<<"word="<<number words;
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H#include<iostream.h>
void main()

{
int x=5,y, *ptr;

ptr=&x;

y=*ptr+50;
cout<<"y="<<y<<endl;
cout<<"*ptr="<<*ptr;

O O o OO




B- #include<iostream.h>
void main()

{

int x=5,*ptrl,*ptr2;
ptrl=&x;

ptr2=ptrl;
cout<<"ptrl="<<ptri<<endl;
cout<<"ptr2="<<ptr2<<"\n";
ptri++;
cout<<"ptrl="<<ptrl;

}

) -

tr1=0x249F23FcC
tr2=0x249F23FcC
tr1-0x249F23Fe
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#include<iostream.h>
class officer
{
private:
int no;
int salary;
int phone;
char *name;

public:
officer(int n,int salary,int ph
void display();
class date

{

private:

int sl,int ph);

officer::offEer(int n,int sl,int ph,char *nam)
{

no=n;

salary=sl;

phone=ph;

name=nam;



}
void officer::display()

{

cout<<"officer no=\t"<<no<<endl;
cout<<"officer salary=\t"<<salary<<"\n";
cout<<"officer phone=\t"<<phone<<endl;
cout<<"officer name=\t"<<name<<end|;

}

void main()

{
officer s(1,2000,123456,"maeham

s.display();

lofficer salary= 20886
officer phone= -7616

officer name= mohammed
0
sadBA)
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#include<iostream.h>
class patent
{
private:
int no;
int age;
char *name;
char *sex;
char *desease;

public:
patent(int n,int ag,char *n har *se,char *des);
void display();

ss date

public:

date(int n,int ag,char *nam,char *se,char *des);

2

2

patent::patent(int n,int ag,char *nam,char *se,char
*des)



{

no=n;

age=ag;

name=nam;

sex=se;
desease=des;

}

void patent::display()
{

cout<<"patent no=\t"<<no<<e

cout<<"patent age=\t"<<agex<<
cout<<"patent na
cout<<"patent sex=\t"<

cout<<"patent desease= <desease<<"\n";

,"'male","aids");

ipatent age=
ipatent name= mofiarnred
ipatent sex= maie

ipatent desease= meleria \
‘ -
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#include<iostream.h>

void main()

{

int i,n,fact=1;

cout<<"enter the value of n\n";
cin>>n;

for(i=1;i<=n;i++)

fact*=l;

cout<<"factorial="<<fact;

73 \’:q 4»

i fFactorial=—-30336




;aﬁtﬂ\.MdﬁﬁﬂE;}Agazhikéﬂ‘JQSﬂ‘ti}Acgﬂi)ggﬁSL4

b )Jlm\

Sum=1+2+3........ +n;

#include<iostream.h>

void main()

{

int a,n,sum,i;

sum=a+n;
cout<<"sum="<<sum<<endl;
for(i=1;i<=n;i++)
cout<<"j="<<i<<endl;

}
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#include<iostream.h>
#include<math.h>

void main()

{

int x,y,z,m,n,sum;

float average;

cout<<"enter the any number";
CiN>>X>>y>>z>>m>>n;
sum=x+y+z+m+n;
average=sum/5;
cout<<"average="<<average;

}
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#include<iostream.h>

void main()
{
int x,y,z,m,n,sum;

float average;

cout<<"enter the any number\n";
CiN>>X>>y>>z>>m>>n;
sum=x+y+z+m+n;

average=sum/5;

cout<<"average="<<average;

O - i
enter the any number -

4
6
9
'3
12

laverage=6
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U #include<iostream.h>
void main()

{
int *ptr =new int [100];
int *x=new int;
cout<<" foud rrary;"
cin>>*x;

for(int i=0;i<=*x;i++)

L]

{
cout<<"unfoud rrary;"
cin>>ptrli[
delete x;

delete [] ptr;

}
}
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#include<iostream.h>

class dataBase

{

private:

int length;
int weight;
int phone;
char *name;
char *address;
public:

dataBase(int len,int weigh,int phone,char *nam,char *add);



void display();
class date

{

private:

int length;

int weight;
int phone;
public:

date(int len,int wei,int ph);

dataBase::data

{

length=len;

t wei,int ph,char *nam,char *add)

weight=wei;
phone=ph; L
name=nam;
address=add;

}

void dataBase::display()



{

cout<<"-data Base mohammed\n\n";
cout<<"length\n="<<length<<endl;
cout<<"weight\n="<<weight<<"\n";

cout<<"phone\n="<<phone<<endl;

cout<<"name\n="<<name<<endl;
cout<<"address\n="<<address<<endl;

}

void main()

{

dataBase ohammed","zalingie");

s.display();
}

mohammed

=mohammed

_address
=zalingie
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#include<iostream.h>

class base_emp

}

Private:

char num

float no;
int old;
public:
void emp_infe(char loat n,int ol);
void display();
Iy

class derived_emp:public base_emp

{

Private:



float salary;

int year;

public:

void emp_info(float sal,int yr);

void display();

Iy

void base_emp::emp_info(char nu,float n,i

{

nume=nu;

cin>>nume;
no=n;
cin>>no;
old=ol;
cin>>old;
}

void base_emp::

{

cout<<nume;

cout<<no;

cout<<old;



}
void derived_emp::emp_info(float sal,int yr)
{

salary=sal;

cin>>salay;

year=yr;

cin>>year;

}

void derived_emp::display()

cout<<year;

}

void main()
{

void derived_e
ob.emp_info("ali",11,20,88,55);
ob.display();

return(0);
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#include<iostream.h>
class basel

{

private:

char name;

int number;

char book;
public:

void get_info();

void display();
2
-l
class base2
{
private:

int dete ;



int publisher;

public:

void get_info();

void display();

Iy

class derived:public basel,base2
{

private:

int cost;

public:

void get_i

void display();
2
void basel::get i

| |
r name name:\n";

cout<<"enter au
cin>>name;
cout<<"enter number:\n";

cin>>number;

}



void basel::display()
{

cout<<name;

cout<< number;

}

void base2::get_info()

{

cout<<"enter dete publisher:\n";
cin>>dete ;

cout<<"enter publisher:\n";

cin>>publi

}

cout<< publisher;

}

void derived::get_info()

{

basel::get_info();



base2::get_info();
cout<<"enter cost\n";
cin>>cost;

}

void derived::display()
{

basel::display();
base2::display();
cout<<cost;

}

void main

{

derived a;

a.get_info();
a.display/();
} | |



ienter auther name name:
mohammed _

lenteer number:

ienter dete publisher:
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#include<iostream.h> \
void main()

{

inta,rl;

float x,y,r2;

cout<<"enter an‘integer\n";
cin>>a; \
rl=cabe(a);
cout<<"a="<<a<<"andits cabe="<<ri<<"\n";
cout<<"*¥*¥*¥*¥¥¥¥¥\ nenter any three integers\n";
cin>>x>>y;

r2=cabe(x,y);

cout<<'x="<<x<<"y="<<y<<"\n";

cout<<"\n and its sum of cabe="<<r2<<"\n";



}

int cabe(int a)

{

return(a*a*a);

}

int cabe(float x,float y)
{

int temp;

temp=x+y;
return(temp*temp);

}
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